SOLVED PAPER

SSC COMBINED GRADUATE LEVEL
Tier-1 EXAM

Held on: 01.07.2012 (First Sitting)

GENERALINTELLIGENCE &
REASONING

Directions (1 - 9): In each of the following
questions, select the related letters / word in |

umber from the given alternatives.

1. 8:12::6:7
1) 8 2 11
3) 5 4) 7
2. 13:19::21:7
1) 41 2) 81
(3) 141 4) 14

3. Eagle: Swoops :: Duck: ?
(1) waddles (2) floats < J

(3) swims 4) fhts‘
4. APPLE:50:: ORANGE: ?

1) 60 @) 697

@) 61 @ 63

5. Accommodation: Rent: Ipurney 7
(1) Freight (2) ?Ctrol
(3) Fare -

4) Expense‘

6. Fire: Smekt

" (1) Children:§chool
(2) Cloud:
(3) Moon:S

(1) Slster B ther
(2) Father : Mlother

(3) Man: Weman
(4) Head : Brain
TSH IRQ::QPK:?

¢

(1) LNO (2) TON b /
(3) PWK {4 PON \'
9. AEZ:FPY::BGT 1Y

o~ g\{ﬂg\v (2 IYY
.

(2) NL

@) TQ

(2) Colonel
A

(3) Brigadi (4) Admiral
12. (1) Life Insurance Corporation
(2) New India Assurance Company Ltd.

(3) United India Insurance Company Ltd.
(4) National Insurance Company Ltd.

13. (1) Hurdle (2) Disease
(3) Barrier (4) Obstacle

14. (1) Mar (2) Remedy
(3) Maim (4) Mutilate
(2) Beethoven
(3) Mozart (4) Bach

16. (1) (132,5)
©) (124,7)
17. (1) 6246-6296 () 7137-7267
(3) 4344-4684 (4) 5235-5465

Directions (18 - 22): In each of the following
questions, a series is given, with one term
missing. Choose the correct alternative from the
given ones that will complete the series.

18. YX,UTS, ONML, ?
(1) FEDCB
(3) THGFE

19. DA, HE,LL?,TN

@) (125,8)
@) (112, 4)

(2) CFEDC

|
|
|
|
|
|
|
|
|
|
|
|
|
| 15. (1) Socrates
|
|
|
|
|
|
|
|
|
|
I (4) HGFED
|
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@ P () PT a v b v cimplies
3) PM 4) PK
20. ](B}EINT? @ () a AAD ¢ c v
(1) X @Y (2) ab+c g %
@) A @) 7 3) aob+c " il
21. AZ,CX,EV,? @) aobxc - / J
(1) HT (2 HU A { »
(3) GS 4) GT 2 3 r‘ . r’
22. D9Y,]J27S,P81M, V243G, __?__ 29 - |
(1) A324B (2) C729B o s | = K.
(3) B729A (4) A729B <hd
23. Which one set of letters when sequentially (1)‘ 14400 ( ! @) 15600 r
placed at the gaps in the given letter series (3).23 (4) 47400

shall complete it ?
_c_bd_cbcda_a_db__a

PEARais written aitGFDN how is REAP
itten injthis code?

(1) daabbc 2) bdbcba (1)/FDN (2) NFDG
(3) adabed (4) cdbbca 3) IDNG (4) NDFG
Directions (24 - 27): In each of the following . 1f54+48=2,60 +51 =10, then 62 + 72 =?
questions, identify the wrong number in the 1) 39 (2) 18
series. @) 2 / )9
24. 9,19,40,83, 170,340 32. L dgepy
"N e ‘( M dehotes +
(1) 83. 2) 40 poegotes
(3) 340 4) 170 - qrpres
Qdenotes —
25. 21,28,33,35.37,36 ) 4 then16P24M8Q6M2L 3 =2
1) 21 (2) 36 1) 10 2) 9
() 33 (4) 35 @) 12 @ 11
26. 5’13’29’61’120’25?4, A & 33. Inthis question, from the given alternatives
(1) 120 ( @ % select the word which cannot be formed by
(3) 61 il ) 1?- using the letters of the given word.
27. 0,7,28,63, 124,215 1 APPROPRIATE
8 9 4 gg .’ (1) PIRATE (2) APPROVE
- f (3) PROPER (4) RAPPORT

"28. Some relatiopships have been expressed | 34 1f g1 ATTER is coded as 7238859 and
( through symbol§ which are explained MOTHER is coded as 468159, then how is

below:

MAMMOTH coded?
g U g preater tha (1) 4344681 (2) 4344651
.. A =notequalt (3) 4146481 (4) 4346481
">'<F = not less th 35. If16-2=2,9-3=0, 81 -1 =8, then what is 64
+ =equalto -4=7
1) 4 2 2
=not greater than G) 6 @) 8

Vae= less than
r
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Directions (36 - 37) : In each of the following | (1) 5km (2) 6km
questions, select the missing number from the | (3) 3km (4) 4km
given responses. | Directions (40 - 41): In each of the followk

| questions, one/two statements are %’Kn

| followed by two conclusions I and II. Yo avé f

| to consider the statements to be true, evellif tl:g}

| seem to be at variance from commonly knowr

| facts. You have to decide whidh of'the given

| conclusions, if any follow feom the given
statement. 1 ‘. ; L

40. Statements: - i 2% F

Te'tnpl is a plac fwo!ship. Churchis also
lace 9_ .__worship. "

(1) 20 3) 10 nclusions:
(2) 25 4) 15 L |Hindds and Christians use the same
laceffor worship.
10|11 |15 I. All churches are temples.
1212 | 8 (1) Weigher conclusion I nor II follows
4 |12 |10 (2) By

conclusions I and II follow
cﬁﬁsion I follows

(3) Only con
4) y conclusion II follows
41. Statement:

|
|
|
|
|
|
|
|
|
37. 105 [13 I
|
: The human organism grows and develops
|
|
|
|
|
|
|
|
|
|
|
|

1820 | 2 = (
1) 21 (2) 20 \
(3) 23 @2 N

38. Four aeroplanes of Airforce‘/i, A,B,C,D,
started for a demonstratiofflight towards
east. After flying 50 km planes A and D flew
towards right, planes E 4nd C flew towards
left. After 50 kmgplarfes, B and C flew
towards their left) plangst A and D also
towards thelr left. In which directions are
the aeroplangs A, B, D, Crespectively flying

a8 ' now?

= 0 North, SC‘)}I ” East, West
( (2) South, No#ith, West, East
| (3) East, WestfWest, East

(4) West, East) West, East

through stimulation and action.
Concluslons:

L Inert human organism cannot grow and
develop.

II. Human organisms do not react to
stimulation and action.
() Neither conclusion I nor II follows
(2) Both conclusions I and II follow
(3) Only conclusion I follows
(4) Only conclusion II follows

42. If the first four letters of a term
HIPPNOWADIASM are written in reverse
order, the next five letters are written without

'_‘1'39. Gatish start from A and walks 2 km east upto | changing their order and then, the remaining
/B and turnsjsouthwards and walks 1 km | letters are again written in reverse order,
upto C. At C ke turns to eastand walks 2km | then which letter is in the middle of the word?
upto D..He'then turns northwards and | (1) O ) W
walks 4 km to E. How far is he from his | (3) A 41
g S lEEngfpoint? | 43. Inthe following letter series how many times

r'

www.examrace.com



l l SoLveD PAPER

44.

45.

Y

. Which answer figure is exactly the
mirror imag@of the question figure if a mirror
is placed on ine MN?

Question Figufe
- M

-

b

4

-

z

BB\ E

-

-
F N

do POR occur in such away hat Q is in the
middle of Pand R.

|
|
QMPNPQRROP NOPP RP |
|
|
|

MQROPQRPPRRPQRP
1) 5 (2) 6
(©) 4 @) 3

Volume of a sphere is equal to the volume of |
a hemisphere. If the radius of the hemisphere |

is 332 cm, then the radius of the sphere is |
equal to

M 9y2cm

@) 632cm

(3) 27 cm

(4) 3cm

A sheet of paper has been folded as shown
by the question figures. You have to figure
out from amongst the four answer figures
how it will appear when opened?

Question Figures

AA

4
Answer Figures _‘J J

A A AA

@ o '(E)l’ (d)

/_17 \.‘.

A | %

47.

48.

49.

Answer Figures

4;4; ‘ﬁ

If SEARCH is coded as TFBSDI how v/ 'I
PENCIL be coded? & pd r’
(2) LIGNEP

(1) RGPEN
(3) QFODIM (4 QtMB
Which answer Eag mpletes t form in

q‘c‘estlo figure? (
ueqtfgl‘Flgure i.-'
L Y ) |
7 K

—
L L]
M
Answer Flgures
| — T _‘L
el
| O D N |
L | I i
() (b) (c) (d)
From the answer figures, select the one in

which the question figure is hidden/
embedded.

Question Figure
>
Answer Figures
T =
Ev=) | g,sﬁ
Ezadllan|lzac| Al
(@) (b) ()
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50. A word is represented by only one set of | GENERAL AWARENESS

numbers as given in anyone of the |

alternatives. The sets of numbers given | 51. The National Commission for Minorﬁif
in the alternatives are represented by | was constituted in the year .

two classes of alphabets as in two (a) 1990 (b) 1992 1)

matrices given below. The columns and (c) 1980 (d) 1989 - {' |
rows of Matrix Iare numbered from 0 to 52. The first Indian who was c&msen as the *

4 and ﬂlat Of Matrlx H are numbered from Secretary General Of Commﬁwe alth is r r

5t09. A letter from these matrices can be (a) Rakesh Verma ¥ |
represented first by its row and next by (b) Gopalaswami y B
its column, e.g. “A” can be represented (¢) Krishna Musthy, J.r

r

by 10. 33, etcand ‘H’ can be represented
by 59. 78. etc. Similarly you have to
identify the set for the word GUIDE.

(d)‘ Ka{z:?lesh SHarmé

53. In-whieh of the following systems of
overngaent is bicameralism an essential

Matrix I W re?
0 1 2| 3] 4 (1)fFederal system
(2) IUnitary system
0 1 E A e U (3) Parliamentary system
(4) Brgfidential system
1| AJl0JU| T E 54. Kuld Nayez]journalist, was appointed
2 E I o) U A asaHi issioner in
( 1) sz Lanka (2) Australia
S |O|JU|E] A \ ) (4) Pakistan
4 | U
X Piyadassi (Beloved of the Gods) in the
Matrix Il — inscriptions?
(1) Asoka (2) Harsha
5 | 6 { oy o} (3) Bindusara
#* (4) Chandragupta Maurya
5 Ii B]‘_ g G H 56. Socialism succeeds in achieving
6 I{ G 18 HI F| D (1) higher standard of living of the people
. (2) equal distribution of income in the
e i F1G| H| B society.
- 8 | o pl Bl F (©)) highgr individgal welfarg in the so§iety
(4) maximum social welfare in the society
9 | H g F| G| D 57. Monopolist resorts to price discrimination

depending upon the
(1) Elasticity of supply
(2) Elasticity of demand
(3) Law of demand
(4) Law of supply
58. Economic planning is an essential feature
of

1) 85,23, 21, 87,32
() 58,31,12 57, 41
@) 77,13, 42,99, 32
(4) 66, 31,48, 78, 14

Yy

|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
A |1 | 55. Which king is referred to as Devanampiya
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|

-

r
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(1) Socialist economy
(2) Capitalist economy
(3) Mixed economy
(4) Dual economy

59. The HYV programme in India is also’ called
as

(1) Traditional Agriculture

(2) New Agricultural Strategy

(3) White Revolution

(4) Blue Revolution.

The National Policy for Empowerment of
Women was adopted in the year

(1) 2001 (2) 2005

(3) 1991 (4) 1995

60.

61. Ballots were first used in
(1) Australia
(2) UsA
(3) Ancient Greece
(4) England

62. The Rashtrtya Barh Ayog (RBA) is related
with
(1) Droughts and Floods A (
(2) Poverty Alleviation '
(3) Floods |
(4) Disaster Management ‘ A

63. Which of the following critétia is not used
for the classification of human races?
(1) Nose < ( )‘Halr
(3) Eyes (4yEar

64. Railway coaghes a marﬁ.lfactured at
(1) Jamshedpur
(2) Chittaranjan

=k " 3) ]?eranti’lr

(4) Varanasiy

o

Fertilization ogcur§ normally in the
(1) Cervix
p A2 Vagina
(8) Fallopian tube
7 . (4) Uterus
6. People consuming alcohol in heavy
quantities generally die of

(1)+liver or stomach cancer
B

r'

67.

68.

70.

71.

72.

73.

74.

(2) weakening of heart muscles leading to

cardiac arrest
(3) blood cancer q
(4) Cirrhosis “ o'
The organisms at the base of the g zing |
food-chain are / |
(1) Carnivores B
(3) Producers 4 r
Who among the followiag was credited
with the destruction of Chinalggni fa group
of powerful nol:ﬁes7' P r

- L

(1) Balban
( Qu&ud—din ibak{ g
) Ttutmish )

) Decg&nposers
(4) Hetbivores

(2) Portugal
T( (4) Denmark
Trunk Road built by Shershah

The
connécted Punjab with

1) Al (2) East Bengal

(3) Eahore (4) Multan

Nam the Maratha Saint who was a
contemporary of Shivaji.

(1) Saint Eknath

(2) Saint Tukaram

(3) Saint Dhyaneshwar

(4) Namdev

The study of lake is called

(1) Topology

(2) Hydrology

(3) Limnology

(4) Potomology

A series of lines connecting places having a
quake at the same time are called

(1) Homoseismal lines

(2) Seismolines

(3) Coseisrnal lines

(4) Isoseismallines

‘Lumen’ is the unit of
(1) Muminance
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(2) Brightness
(3) Luminous flux
(4) Luminous intensity

75. The transfer of date from a CPU to peripheral
devices of computer is achieved through
(1) interfaces

(2) buffer memory

(3) modems

(4) computer ports

Which of the following items is not used in
Local Area Networks (LANs) ?

(1) Interface Card

(2) Cable

(3) Computer (4) Modem

The mass of 10 moles of water is

1) 9%g (2 45¢g

(3) 18g (4) 180 g
Vitamin A is rich in

(1) Carrot (2) Lime

(3) Beans (4) Rice

The high boiling point of water CO
to hydrogen sulphide or hydrogen c
is due to < J
(1) Dipole insulation

(2) Vander Waal's attraction‘ j
(3) Polar covalent bonding™™ '
(4) Hydrogenbonding

Which of the folowing determines the
chemical propertie{of ah element?

(1) Number of electrons

(2) Numberlof neutrons

3) Num_ye.‘r f protons

76.

77.
78.

79.

ared
chibride

80.

(" 81.

' (4) Allof tH@above
"81. The Central esearch Institute of India
is located at
(1) Madras (2) Lucknow
(3) Delhi (4) Bangalore

" the first to bdused by man ?
(1) Rye (2) Wheat
(3) Rarley (4) Oat
What of ‘the following wheat species are

'l-b l'j,ng cultivated in India?

-..82 Which of thaffllowmg cereals was among

(1) Club wheat
(3) Emmer wheat

(2) Durum wheat
(4) Bread wheat

Which one of the following forces
‘dissipative force’?

(1) Electrostatic force

(2) Magnetic force

(3) Gravitational force

(4) Frictional force

84. a
"\
1)

/ ’

If a resistive wire is elongated, its resistance

(1) decreases A 4 gy "

(2) remains corfstant ™ r

(3)'_ increases

i ATy
(4)-All'6f the abo(re f
fa maghet has a thitd pole, then the third

85.

okes are there in the
a of the National Flag?
() 18
@) 24
Thedatest official language of the U.N. is

88.

(1) Russian (2) Arabic
(3) Chinese (4) Spanish
89. Srikrishna Committee Report which was

made public in 2011, is related to

(1) rejuvenation of higher education

(2) demand for a separate Telangana State
(3) ragging in educational institutions

(4) impeachment of Justice Dinakaran

90. The latest book “Kurukshetra to Kargil’ is
written by

(1) Suryanath Singh

(2) Kunal Bhardwaj

(3) Karan Singh

(4) Kuldip Singh

The Educational Development Index (EDI)
Report., released in 2011, is led by

() Tamil Nadu (2) Puducherry

(3) Kerala

(4) Lakshadweep

91.
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92. Shunglu Committee, which submitted its
report in 2011, is related to
(1) Commonwealth Games scandal
(2) reforms in the Insurance sector
(3) revamp of Defence management
(4) management of Co-operative Sector

QUANTITATIVE APTITUDE

101. P and Q are two points observed fromfthe
top of abuilding 10./3 m high. IF the afigle:

of depression of the points are)
complementary and PQ = 20 m, then K s

93. The 65th National Football Championship distance of P from the buildi .
(Santosh Trophy 2011) was won by (a) 25m Fg r
(1) Bangal (2) Punjab (b) 45m - |
(3) Manipur 4) Goa © 30m B
94. The organisation involved primarily with (d) 40m 1 F
?BVEIOFE ental plann(12r)1glg AR 102. If )1, l?;ar; ! are com ﬂleme ary angles, then the
(3) CSIR (4) NEERI "}
95. What would be the impact of global warming A oIy " AsinB-tan A tan B +sec?
on mangrove forests? A fcot” BEs
(1) They will grow more luxurious (@) (b) 0
(2) Large areas of mangroves will be (© ) -1
submerged 103. Thelledst value of 2sin2 0 + 2c0s2 9 is
(3) Their role as carbon sinks will become @) 3 / ®) 5
more important

(4) Both (1) and (3) above

96. The sweet taste of fruitsis due % J
(1) Lactose ) Fru 0S
(3) Maltose 4) R1b

97. The most endangered Asidtic top predator

©1 ' (d) 2
104. A,O,B are three points on a line segment and

Cis apoints notlyingon AOB.IF Z/AOC =
40° and OX, QY are the internal and external
bisectors of /AOC respectively, then

on the edge of extmct;’on.ls /BOY is

(1) Black Bear = @) 70° (b) 80°

g; ]:A)lilaltlc Lion f (3) Siberian Tiger (© 75° (d) 68°
ole _

98. Analectsis the sacred boak of

4
) Conﬁfcni ism 105. If 4x = sec 9 and X = tan 9 then

- ' (2) Judais 1
=" (3) Shintoismny 8[)(2 __2j o
( (4) Taoism x
99. The seat of Md@dhya Pradesh High Court is 1 )
p  Jocatedat @) —— ®) <
(1) Gwalior (2) Indore 16 8
" 76 Bhopal (4) Jabalpur ] )
0. The brightest planet is © 2 (d) 1
g,; ;{f;?;r (2) Mercury 106. If2—cos20 =3sin g cos §,sin @ = cos O
_,.(4’).. Mars then tang is
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1
@ 5 ®) 0
2 1
© 3 @ 3
107. Ifsing +cos /2 cos(90- ), thencot 9
is
@ J2+1 (b) 0
© 2 @ V2 -1

108. If x sin?® + y cos®® =sin g cosp and x
sing =ycos@,sing = 0,cosp0, then x2 +
y3is

1 1
@ 75 ® 5
(©1 @ 2
In the following figure, O is the centre of the
circle and XO is perpendicular to OY. If the
area of the triangle XOY is 32, then t ‘ea
of the circle is

109.

A |
N

(a) 64 W (b)'256
(c) ¥6 (d)'32
The side BC ‘\WC is produced to D. If

1
AACD =108%and /B = 5 /A then /A
P W
. _iS
r(a) 36° (b) 72°
(c) 108° (d) 59°

114 Two circles of radii 4cm and 9 cm respectively

touch each a common tangent touches then
-

r

at the points P and Q respectively. Then the
area of a square with one side PQ, is
(@) 97sq.cm (b) 194sq.cm L | ‘,
() 72sq.cm (d) 144sq.cm ©

112. Two tangent are drawn from a point'P to 1)
circleat A and B. O is the centge of tHe circy./ . }

"F

If ,AOP =60° then /APB.is'

(a) 120° (b) 90%
(c) 60° (d) 30°
113. If each interiom an ]é is double.of each

gﬁl@r polygon with n
siaei, en the value ol;n- is

3 )\ (b) 10

exteriorangle ot

L5

4. If the length of the side PQ of the rhombus
PORS is pcm and ZPQR =120°, then the
length of QS, in cm, is

) 6

(@) () 6
© 3 (d)5
115. The afigle ormed by the hour-hand and the

@ 275 b) 45°

1
© 225° (d) 30°
116.Two sides of a triangle are of length 4 cm and
10 cm. If the length of the third sideis ‘a’ cm,
then

(@) a>>5
(c) a<6

(b) 6<a< 12
d) 6<a<14

1
©.087 adz=(1-0.087

- 1, then out of the following, the true
relation is

117. Ifx =(0.08)% y =

(@ y<xandx=z
(b) x<yandx=2z
(©) y<x<x d) z<x<y

|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
I minute-hand of a clock at2: 15 p.m. is
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
| 118. Inxy plane, P and Q are two points having
|
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119.

120.

121.

122.

123.

3=

BC.TF sACK
measure f,
' (a) 90°

co-ordinates (2, 0) and (5, 4) respectively. |
Then the numerical value of the area of the |
circle with radius PQ, is

(@ 16= (b) 32n
(© 14= (d) 25

1 1 2
If x* + —7 =23, then the value of (X - —)
X X

will be

(@) 7 (b) -7

() -3 (d 3

The value of

\/[6 +\/{76 +4/(6+..upto 00)}] is equal to
(@) 3 (b) 10

(© 8 d) 2

1 5

If x+ — =3, thevalueof X +—5 is
x x
sec*0 -sec?0 isequal to

(a) tan?9 -tan*0

|

|

|

|

|

|

|

|

|

|

|

|

|

|

|

|

|

(a) 123 (b) 126 |

() 113 (d) 129 |

w L

(b) tan?0 + tan0 I

() cos* - cos?0 (il){f 0s? - cos* |
1

In AABC, AD s t(e rine'al'an and AD = 5 I

|

|

|

|

|

|

|

|

|

|

|

|

|

'
=30°, then measure of then

(b) 45°
(c) 30° (d) 60°
If /6 x15 \}5 then the value of xis
£a) 3 ) +3
© 3 @ Ve
3++/5 1

1 I3 55 is equal to

126.

127.

28.The

129.

130.

131.

132.

(@0
|

N “« 4%

© 2 @ €4
-

Ifa+b +1=0, then the valuélof{(a® + b3 J‘ 'I
In the xy- coordl.qatel’s;stem if (a, b)and (a +
34 b + k) are twopoints on the line defined
b th.e uatlon(7 3y { 7, thenk =7

7 #

A3

©

3
b 5

—3ab) is &
(@) 3 (b) 0_ r
© -1 @ ™

(b)l

@3

erage age of 4 boys, five year age was 9
including a new boy, the present
e age c;f'ﬁll the five is 15 years. The

present age ofghe new boysis
(a) 14'years
(c) 13 years

(b) 6years
(d) 19 years

If the average of 39, 48, 51, 63, 75, 83, x and

69 is 60, then the value of x is

(a) 52 (b) 53
(c) 50 (d) 51
The cost of a piece of diamond varies with

the square of its weight. A diamond of Rs.
5,185 value is cut into 3 pieces whose
weights arein theratio 1:2: 3. Find theloss
involved in the cutting.

(@) Rs. 3,068 (b) Rs. 3,008

(c) Rs. 3,175 (d) Rs. 3,168

A discount of 30% on the marked price of a
toy reduces its selling price by Rs. 30. What
is the new selling price (in Rs.)?

(@) 70 (b) 21
(c) 130 (d) 100
The capacities of two hemispherical vessels

are 6.4 litres and 21.6 litres. The ratio of their
inner radii is
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(@ 4:9 (b) 16:81
© V2:43 ) 2:3

133.Pipe A alone can fill a tank in 8 hours. Pipe B
alone can fill it in 6 hours. If both the pipes

are opened and after 2 hours pipe A is closed,
then the other pipe will fill the tank in

139.

140.

1
(@) 6 hours () 35 hours

1
() 2= hours

(b) 4 hours 5

141.

(a) 700 (b) 600

(c) 1,000 (d) 800

The number nearest to 75070 which is
divisible by 65, is & '4

@) 75070 ®b) 75075 o,
(©) 75010 v / < }
(d) 75065 . -4
The number 20% more tharﬁ;O in r
(a) 36 (b) 30 !

© 90 < @6 y "

Atree igbroken by thewind. If ther"c-op of the

tree _gt ck the ground at an angle of 30° and
134. If(a-b)=3, (b—c)=5and (c—a) =1, then the ac istance of 3Qm from the root, then the
eight of the treeis
a® +b® + ¢ - 3abe . .
value of is (@)} 25/3m
a+b+c

(@) 17.5 () 20.5 ®) oy m

(c) 10.5 (d) 15.5 (© i543m
135.The population of a town is 15000. If the | d) 20J3m /

number of males increases by 8% and that | ¢ . 1 then sin? A + sind A |

of females by 10%, then the pop n | 142.1f cos A'+ cos® A =1, then sin + sin® A is

would increase to 16300. Find the n@mber. | equa’yo

of females in the town. (@) 1 (b) 1/2

(a) 4000 () 6000 ©0 (d -1

(c) 3000 (d) 5000 143. A farmer divides his herd of n cows among
136. If Rs. 5,0000 becomes;Rs. 5,700 in a year's his four sons, so that the first son gets one-

time, what will Rs¢7,0 & L omBRe chd half the herd, the second one-fourth, the third

of 5years at the sarf rat€ofisimple interest?
(a) Rs. 10,50 " (b) Re11,900
() Rs. 12,7 () Rs. 7,700

A thief ig gticed by a'policeman from a

|

|

|

|

|

|

|

|

137; |
distance o m. The thief starts running |
chases him. The thief and |

|

|

|

|

|

|

|

|

and the polic
the policemarfirunfat the rate of 10 km and
11 km per hofir respectively. The distance

p [inmetres) bgtween then after 6 minutes is
w _(a) 190 (b) 200
(0 100 ) 150

188. ‘A’ sells an article to ‘B’ at a profit of 20%
and ‘B’ sells'it to ‘C” at a profit of 25%. If ‘C’
pays Rs. 1,200, the cost price of the article

.ﬁ-oiiginally (inRs.) is

son and the fourth son 7 cows. Then the
value of nis
(a) 240
() 180

(b) 100
(d) 140

144.By what least number should 675 be

multiplied to obtain a number which is a
prefect cube?
(@ 7
© 5

(b) 8
@) 6

145.The least number which when divided by 35,

45, 55 leaves the remainder 18, 28, 38

respectively is
(a) 3448 (b) 3482
(c) 2468 (d) 3265
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Directions (146 — 150): The graph shows Income | ENGLISH COMPREHENSION
and Expenditure of a Company. Study the graph |
and answer the questions.

Directions (151-155): In the following questimgé\
some parts of the sentences have errors and,

have none. Find out which part of a sentenﬁ?;!
an error. If a sentence is free from eirort theh yo
answer is (4), i.e. No error. . J

151. You do not (1)/ look as (Z)ryo'ur brotherr
(3)/ Noerror (4) - |

}
»

152. My elder brothe;k(l)x igsix (2)/ faot }!igh.(?))/
No error (4) i %
153. noprooqof yourguilt (1)/ the only
urse open to me (2)¥ is to dismiss the case.
3)/ No error (4)

4. Asfwe sge it. (1)/ she appears to be
unfieasonable (2)/ anxious about pleasing
herthushband. (3)/ No error (4)

155. Thefscifsor is (1)/ lying on (2)/ the table.
(3)/ No error

(
Directions Cﬁé? In the following questions,

Rs. in lakhs

(@]
o]
o
N

N
o
Q
N

2001
2003
2004

Years
146.The expenditure from 2002 to 2003 increased
by

(a) 33%% (b) 40% 4 K

© 10% ) 20% N
147.The income in 2002 was b;]‘lal to the
expenditure in the year ™=

|

|

|

|

|

|

|

|

|

|

|

|

|

|

|

|

|

|

| sentences @re given with blanks to be filled in
| with an appropriate word(s). Four alternatives
| are suggested for each question. Choose the
| correct alternative out of the four as your answer.
|

|

|

|

|

|

|

|

|

|

|

|

|

|

|

|

|

156. The Union Budget is likely to be presented

(a) 2003 ) 2004 on February 26, two days ahead of the
ry Yy
(c) 2000 <« (d)*2001 date.
148.The profit was maxi um'in'the year (1) critical (2) conventional
(a) 2003 = (b 2‘0"04 (3) suitable (4) convenient
(c) 2001 (d; 2002 157.1am sorry the mistake.
149, The differéice in profif between 2001 and (1) from (2) with
o _JF 2002is () for @) at
(@) Rs. 25 1la \ 158. He her that she would pass.
(b) No differefice (1) insured (2) ensured
() Rs. 10 lakhs (3) assumed (4) assured
¢ #(d) Rs. 20 lakhs 159. Your father __ worry. I'm a very careful
150 The numberjof years in which the income driver. )
exceeds the dverage income is @ neec’flnt (2) none )
(a) three () four (3) can't (4) doesn’t
() one @) two 160. The __ chosen for construction of the
building is in the heart of the city.
-~

F
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(1) cite (2) slight

(3) sight (4) site
Directions (161-165): In the following questions,
out of the four alternatives. choose the one which
best expresses the meaning of the given word as
your answetr.

161. Nexus
(1) connection
(3) deficit
162. Mammoth
(1) straight
(3) wild
163. Hyperbole
(1) expansion
(3) decoration

(2) distance
(4) difference

(2) huge
(4) greedy

(2) imitation
(4) exaggeration

164. Eulogy
(1) apology (2) address
(3) speech (4) praise

165. Menacingly
(1) dangerously (2) threateningl
(3) harmfully (4) hideously &.

Directions (166-170): In the followmﬁlue 1ons
choose the word opposite in meanihgito the
given word as your answetr.

166. Impeccable

(1) faulty (2) tedious
(3) flashy - (4)%0r1ng
167. Amalgamate
(2 Jombine

) separat'ei'g

(3) assimila (4) integrate

165. Zenith & 4
~ (1) climax (2) crisis

(3) acme "'\\\ (4) nadir
169. Influx

(1) reflex (2) deflection
Y 103) effluent (4) exodus
170 Orderly

(2) colic

| (1) semitic

(3) democr (4) chaotic

tions (171- 175) In the following questions,
fou;_alternatlves are given for the idiom/ phrase

| printed in bold in the sentence. Choose the
| alternative which best expresses the meaning of
| the idiom/phrase as your answer. 1

171. Ram is very calculative and alway§ F ag

axe to grind. / |
e

(1) has no result A 2

(2) works for both sides
(3) has aprivate agenda r

(4) fails to arouse interests= |

The police looked all quer for hifn but drew
ablank.
ot find {Lm
in priso {

-F

172.

(1) di

) put
3) arrested him
i tocourt

73.

(2) was firm
(4) walked fast
174. His investmeqé helped him make a killing

|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
| in thegtock market.
| (1) lose money quickly
| (2) plana murder quickly
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|

(3) mmurder someone quickly
(4) make money quickly

175. There is no gainsaying the fact that the
country is in difficulties.
(2) hiding

(4) denying

(1) ignoring

(3) forgetting
Directions (176-1S0): in the following questions,
a part of the sentence is printed in bold. Below
are given alternatives to the bold part at (1). (2)
and (3) which may improve the sentence.
Choose the correct alternative. In case no
improvement is needed, your answer is (4).

176. Sordid and sensational books tend to vitiate
‘the public taste.
(1) divide
(3) distort
177.By studying AIDS has engaged many
researchers in the last decade.
(1) Important study

(2) distract
(4) Noimprovement
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(2) Now that thestudy | 185. Cure for all diseases
(3) Thestudy of | (1) Curable (2) Panacea
(4) Noimprovement | (3) Incurable (4) Curative q

178. His Master’s thesis was highly estimated | Directions (186-190): In the following quéfns,
and is now being prepared for publication. | there are four different words out of which oné
(1) was highly discussed | is correctly spelt. Find the correctl)‘sp,elthord/ . }

(2) was highly commended | 186. (1) pleintive @) sustein .
(3) is highly appraised (3) villain (4) alldince F
(4) Noimprovement 187. (1) comissioner - |
179. No sooner had she realized her blunder than (2) commissionar 4 | g "
she began to take corrective measures. (3) commistoner. ':- r
- [

|
|
|
(1) thenshebegan to take | (4), commission.
(2) than she began taking | lﬁﬁ (2! advertise
(3) when she began to take | ' (4) sencitive
(4) Noimprovement |
180. A good scholar must be precise and possess |
originality. |
(1) mustbe precise and original |
(2) must be possess precision and original | (2) syrnmttry
(3) must be precision and possess | (3Ysymatry, (4) symmetry
Originality | Direction W‘l-!ﬁ)ﬂ : In the following questions,
(4) No improvement 4 ( | you have fwo brief passages with 5 questions
Directions (181-185): In the followinggueftions, | following'each passage. Read the passages
out of the four alternatives, choose‘ile which | carefullyfand choose the best answer to each
can be substituted for the gilel. words/ | question out of the four (alternatives.
sentence. - |

Passage I (191-195)

181. One who loves books & 1 . . .
(1) Bibliophile 4 L Two years later, in November 1895, he signed his

|
p 3 | WO yea .
o 1e . 5 final will. He left the bulk of his fortune,
2) Biblioph:
§3; B;Ehlgp a,lglset f ‘.r I amounting to about £ 1,75,00 to a trust fund
@) Bibliogr her } administered by Swedish and Norwegian
L w . | trustees. The annual interest shall be awarded as
182. Speakin| out preparation | . . .
i (1) Pelibera (2) Fluent prizes to those persons who during the previous
- (3) Loquaci (4) Extempore | year have rendered the greatest serx.zices.to
. . | mankind. The interest shall ‘be divided into five
183. Special trialfof the Head of State by |
Parliament
¢ «(1) Impingement (2) Infringement
e JIII..(3) Impeachment  (4) Impediment
4. Someone able to use both hands with equal
skill
() Ambivalent (2) Amphibious
(3) Ambiguous (4) Ambidextrous

F

equal parts - now amounting to about £ 8,000
| each - one of which shall be awarded to the
| person who has made the most important
| discovery or invention in the- realm of physics,
| one to the person who has made the most
| important chemical discovery or improvement,
| one to the person who has made the most
| important physiological or medical discovery,
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one to the person who has produced the most
outstanding work of literature, idealistic in
character, and one to the person who has done
the best work for the brotherhood of nations, the
abolition or reduction of standing armies, as
well as for the formation or popularization of
peace congress.

191.The said prize is awarded

(1) once in 5 years

(2) every year

(3) once in 4 years

(4) once in 2 years

192. Which is the prize that is referred to in the
passage?

(1) Nobel Prize

(2) Magsaysay Award

(3) Pulitzer Prize

(4) Booker Prize

193. The number of prizes in the field of science
(2) One

are
(4) Five - (

(1) Four
(3) Three
194. Total annual prize money amoatgé
(1) £8,000 @£ 1.7‘(})0
(3) £350,000 (4) £40,000 iy
195. Prize is awarded for outstanding work in

(1) Chemistry <14
(2) Literature | » A
(3) Physics f F
(4) All the aboveé { 1 ‘

P?s. e II (196-200)

«  If an opinion cofffrary to your own makes you
( angry, that is a signr%h&you are subconsciously

aware of having nojgood reason for thinking, as
you do. If someonefmaintains that two and two
are fiye that Iceland is on the Equator, you feel
pity rather than anger, unless you know so little
of jarithmetic or eography that his opinion
stl;es your own gontrary conviction.

196. If someone'else’s opinion makes us angry, it

means that

o

SoLveD PAPER I E

(1) we are subconsciously aware of having
no good reason for becoming angry

(2) there may be good reasons forthis
opinion but we are not conscié)'s

aware of them ‘
(3) our own opinion is not based on go? )
reason and we now  this %

subconsciously

(4) we are not consciougraware olf an)r(

reason for our own opiniony g

“Your own contary cbnviction” rfers to

(11 the fact thatqoh feel pity rather than
an ‘i

) The gpinion thatitwo and two are five

. t Ice-land is one the Equator

(3)]The opinion that two and two are five

197.

198. tion means

|

|

|

|

|

|

|

|

|

|

|

|

|

|

|

|

| ) ,

|

|

| 1) pe (o)

| (2) disbelief

| (3) strongbelief

| 4) ignorance

| The writer says if someone maintains that

| two and two are five you feel pity because
you

| (1) havesympathy

| (2) don’tagree with him

| ®3) want to help the

| person

| (4) feel sorry for his ignorance

|

|

|

|

|

|

|

|

|

|

|

199.

200. The second sentence in the passage

(1) builds up the argument of the first
sentence by restarting it from the
opposite point of view

(2) makes the main point which has only
been introduced by the first sentence

(3) simply adds, a further point to the
agreement already stated in the first
sentence

(4) illustrates the point made in the first
sentence
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ANSWERS

1.(1)  2.(1) 3.(1) 41 5@)
1.(4) 12.(1) 13.2) 14.(2) 15.(1)
21.(4) 22.3) 23.(3) 24.(3) 25.(4)
31.(4) 32.(1) 33.(2) 34.(1) 35(1)
41.(J)  42.(2) 43.(3) 44.(4) 45.(2)
51.(2) 52.(4) 53.(1) 54.(3) 55.(1)
61.(1) 62.(3) 63.(4) 64.(3) 65.(3)
71.(2)  72.(3) 73.(1) 74.3) 75.(1)
81.(2) 82.(2) 83.(2) 84.(4) 85.(3)
91.(3) 92.(1) 93.(1) 94.(4) 95.(4)
101.(3) 102.(3) 103.(4) 104.(1) 105.(3)
11.(4) 112.(3) 113.(4) 114.m 115.(3)
121.(1) 122.(2) 123.(4) 124.(1) 125.(2)
131.(1) 132.(4) 133.(4) 134.(1) 135.(4)
141.(3)  142.(1) 143.(4) 144.(3) 145.(1)
151.(2) 152.(3) 153.(1) 154.(2) 155.(1)
161. (1) 162.(2) 163.(4) 164.(4) 165.(2)
171.(3) 172. (1) 173.(2) 174.(4) 175.(4)
181.(1) 182.(4) 183.(3) 184.(4) 185.(2)
191.(2) 192.(1) 193.(3) 194.(1) 195.(4)

-
EXPLANATIONS

1.

|

|

|

The relationship is x i(2x - 4) |
8x2-4=16-4=:1( > |
|

|

|

|

Similary, 6 x 2 -4 312 - 4=8

L (12=1: (3)2{:9 19

Similarlyy (32 =4;(12=1= 41

. Eagle swoop\‘“ﬁ%wn on anything. The |
e

movement
Similarly, the
yvaddle.

le is like swooping.
ovement of duck is called |

6. (2) 7.(4) 8. (2) 9. (1) 10. (2_)
16. (4) 17. (1) 18. (2) 19. (1) 29. (3)
26.(1) 27. (2) 28. (1) 29.(1) 30. (2) |
36.(4) 37.(3) 38. (3) 39._(1) 40. (1_)
46. (4) 47. (3) 48.(2) 4%.(4) 50. (1)
56. (2) 57. (2) 58. (1) 59. (2) 60.(1) r
66. (4) 67. (3) 68.(1) 69. (2)_ ) 70. (1)
76. (3) 77. (4) ‘78. (12 79.(4) BO.(1)
86. (2) 87. (4) _88.(22 ; 89. (2) 90. (4)
96.(2) 3 97_. (4) 9_8. (1) ) 99. (4) 100. (1)

106._(1) 107_. (4) 108.(3) 109. (1) 110.(2)
11_6. (4) 117. (_4) 118. (4) 119.(4) 120.(1)
1_26. (2)‘ 127. _(2) 128. (4) 129. (1) 130. (4)
_136. (2) _ 137._(3) 138. (4) 139. (2) 140. (4)
146. (1) _147_. (1) 148.(2) 149.(3) 150. (1)
156. (2) _1§7. (3) 158.(4) 159.(1) 160. (4)
166. (1) -167. (1) _168. (4) 169.(4) 170. (4)
176. (2) 1_77. (3) 178.(2) 179.(4) 180. (1)
186. (3) 1_87. (4) 188.(2) 189.(3) 190. (4)
196. (3) 197. (1) 198.(3) 199. (4) 200. (4)

Similarly,

O R A N G E

15 +18 +1 +14 + 7 + 5=60

. We pay rent for accommodiation. Similarly,

we pay fare for journey.

. Fire causes smoke, smoke comes out when

something is burnt in fire. Similarly, cloud
causes rain.

. Grenade and gun are fire arms. Similarly,

head and brain sensitive organs.

T S H

I R Q
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Similarly,

Similarly,

B G

10.

N2 .1,
7Z_ 8 W

-3
T——>Q
11.

4
14
Major, Colonel and Brigandi(} e different

ranks in the Indian ArmyaA

iral is the

topmost rank in the Indian Navy.

12. Expect Life Insurance

are insurance c

insurance, i.e., vehieles,

13. Except disdase, all

oration, all others
ahies for general

operty etc.
other terms denote

obstructignhindrance or interruption.

T

15.
©  %nd Musici
Composer.
Composer.

. 112is com

112
- =28

r4

Except remedy,all other terms denote loss
of something’
Socrates was alGreek philosopher. Ludwing

Van Beethowen was a German Composer

. Bach was also a German
‘A Mozard was a Austrain

tely divisible by 4.

17.

18.

19.

20.

21.

22.

23.
24.

13 6.4
=5 = 6.4;
125
e =15.625;
v
= i =17.21 : .
=— =17. r

SoLveD PAPER I n

-
The difference bethgf the two‘*lumblers in

the number Paiﬂ-éz,] 6296 is le?t.
6296 - 6246 = 5OS o

67- 7187 = 13 \ y

) |
684 - 4344 = 340
54 =230
Y-
;]_.ﬁ'_4
JEERTE ICYE I
GLrF—=lep=lop-lsC

D +4I'I H +4 L +4 F +4 T

+4 +4 +4 +4
D E I Kl N
B +3 E +4 I +5 N +6 T +7 A
A e E 2 G
72X 2.v 24T
D +6 J +6 P +6 v +6 B

x3 x3 x3 x3
9 27 81 243 729
y 6 .s B, m—C.¢c LA

l[alcldlb/dlaleb/cdalbl/aldab/[d]a

9x2+1=18+1=19
19x2+2=38+2=40
40x2+3=80+3=83
83x2+4=166+4=170

170 x 2 + 5 = 340 + 5 =[345]
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Therefore, the number 340 is wrong in th —a<b=c
series. )
option (3)
25.21+7=28 ”\
a0b+c= a>b=c .
28+5=3 ( 1
option (4) ER |
33+3=1[36 a0bxc=a>b2c . "T-‘r X ’
36 +1=37 29. 2x3x5x4=120 r - f
37-1=36 - |
120 x 120 = 14400 ‘ -

Therefore, the number 35 is wrong in the 30.P E AR = 1 I

series.

W =a<bzcor, =?=16+3 -9=10]

<
as<bsc 33. Thereis no "V’ letter in the given word.

ion (2
option (2) _ 3. F L ATT E R

2 O LlLuL oLy

~

|
|
|
|
|
|
|
|
|
|
|
26. 5+ 8 =13 | i‘-il{ v ( 1
13+16=29 : P\N
29 +32 = 61 | efore
| RIE AP
61 + 64 = [125] | . .
125 + 128 = 253 | NI Y
Therefore, the number 120 is wrong in the | /
series. | 31.5-4= ’
27.0+7=7 | 4-331
7+21=28 11 : 1+}.=2
28 +35 = 63 B ' | 6-2=4;
63 + 61 =124 | 7-2=5
|
124 +87 = [211] = A 4 | 4+5=
1 ,J\.
Therefore, the number 2}5.is wrong in the |
series. | L=x M=+
32.
28.avbvq, I P=+ Q=-
= W -
- > <P | 16P24M8Q6M2L3=?
( Option (1) : —7-16+24+8-6+2x3
aAbodc | =?=16+3-3x3
T v |
|
|
|
|
|

F
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35.

36.

¥
.

. First Col

O . =" G

4 6 8 1
Therefore,
MAMMDO

2
4 3 4 4 6 8 1
16 = (2+2)2 = (4)?

9 = (3+0)>*=(3)?
Similarly, 64

= (@4+4)7=@8)

The product of two numbers in a sector is
equal to the central number in the previous
sector.

3x 5=15
8§x3=24
7x2=14 ‘.*J
5x3=

8x4=32 <14

9x1=9 (1 %
7 x4=28 . ‘.,-
]

—

L]
10 +12 +'4 10 36

—:18

=18 (Lowermost number)
Second Col
11+12+15%5=40

408 5o
=20

"r

Third Column
15+8+10+13 =46

46
- =[23]

B.C

38 A B C.D s N
% A, |50 km 1""'
2% %
b N 0 -’ .

A = Easty) B — West,
C West, D = East,

>l

39.

C okm °D

Required distance AE

(AF)? + (EF)?

= J(4y +(3)
=.16+9

=25
=5km

40. Temple and Church are place of worship. It
does not imply that Hindus and Christians
use the same place for worship. Church is

difference temple. Therefore, neither
Conclusion Inor II follows.
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41.

42.

43.

44.

47.

Growth and development of human |
organism is a continuous process. Some |
changes take place inhumanbody now and |
then. Therefore, neither and then. Therefore, |
neither Conclusion I nor II follows.

HIPPNOW A DI ASM
PPI HNO[W/  ADMS A1

QMPN ROPQNOP

MQRO |PQR| PPRR |PQR| P

4 3
Volume of sphere = 3 nr

2
Volume of hemisphere = 3 nr

Now,
inr3 :%nr3 *
3 3

2 3
or,r3:—><—><27><2 '

3°% 4
. r=3cm

i
-

SE AR C i s

48.

50.

—_
(@)
—_

10V3 metre

G =A 58, 66,}7, 85, 98
8] ™12, 23, 31, 40
I 3 00, 13, 21, 34, 42
D & 56,69,75,687,99
E = 01,14, 20,32, 43

90°- 6

B Q

AB = Building = 10./3 metre

PQ =20 metre
BQ =x metre (let)
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~

If ZAQB =90°- ¢
From AABP,

tang = E

_10V3 ,
- x+20 @

From AABQ,

AB
tan (90°-9) = B_Q

10+/3
=cotp = T\F (ii)

By multiplying both equations,

10V3 Xlo«E
x +20 X .‘&

=x*+20x=10x10 x 3 A,
= x2+20x-300=0 J
:>x2+30x-10x-300=0-—-“

= x(x+30)-10(x+30)=0

= (x-10) (x+30)‘1 ?f\.
=x=10 - "”

x = -30 ‘t

BP:HF 0 =30 metre

tang.cotg =

. A+B=90°

= A=90°-B

= sinA =sinf(90° - B) =cos B
Similarly,

= cosA=sinB,tan A =cotB

~.sin A, cosB +cos A.sinB-tan A. tanB +
sec?A - cot’B

F

SoLveD PAPER E I

=c0s’B + sin?B - cotB. tanB + sec?A - tan?A
=1-1+1=1
[ tanB. cotB‘éq
sec?A - tanzr: 1
103. 2 sin?@ + 3 cos?g =2 sian ﬂZc'gsze . |
cos?g . r ! . b r
=2 (sin? @ + cos? @ ) + cosZe |
=2+ cos?g < 1,{ vy
.'.\T:eas value :< +F10‘5 2 r

| ¢ . coc2
! 11 [--cos?p > 0]

104.

|

|

|

|

|

|

|

|

|

|

|

|

|

|

|

|

fron )

I < : f s >
| oYy i%thebisector of fAOC =2 /COX .
: " £BOC =2 /COY

| ", ZAOC + /BOC

I =2,/COY +2.,2C0X =180°
| = 2(,COX +2/YOC =180°
I = /X0Y =90°

|

|

|

|

|

|

|

|

|

|

|

|

S ZAOX + /XOY + «BOY =180°
- =180°-90°-20° =70°

105. 4x =secH
secO
= X= 4

Again, ; =tang@
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1 -2+J4+4
- 8[)(2——2] COte = +
X 2 i
4
sec20 tan?0 — —2+22 — ( '
_g| =2 2R 0 ;2 -/, )

or- (V2 -1) g7 v

i(sec2 0 — tan? 0)
16

- = é 108. xsin®@ +y cos® ST 0 cos oy @ |
106. 2-cos?2g =3sing.cos 9 :>(xsme) sin? TW'ﬁOSe)
Dividing by cos?9 CQS@ in § .co i ¢
] = xsm‘ﬁ sin2g + x’sme cos2 g
2 1 3sin6.cos 6
cos?20 ~ cosZ0

= 2sec?g -1=3tan ¢
=2(1+tan’g)-1=3tang
= 2tan?g +2-1=3tang
= 2tan?g - 3tang +1=0 4
= 2tan?g - 2tang - tan@ +i"é
=0
4

= 2tang (tang -1)=0

<t

1 1
= tangQ = orl( *"'\.

2
107. sin@ +cos
_ /3 8

:i_ose.sine =ycosf

= y=sing
X2+ yr=cos? +sin?g =1
109. X0y =90°:0X=0Y =radius (1)

. AXOY is aright angled triangle.

= W __
( = sing +c 2 sing@
Onsquaring, Q
€0s20 +sin2@ +2 cosp .sing
X Y

.
=2sin?%¢9
= cos2g=sin?g-2cosp.sing

Ondividing by sin? ¢

1
+ 5 %(0X)x(0Y) =32
*""?cot29+2cote -1=0
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=1r2=2x32=64

~r=.64 =8

.. Area of circle = 2

A

110.

B C D
ZACD = ZABC = ZBAC

ZA
— 108° = ?+ ZA

% 1800
=5 =
108 x2
= sA="g =72 4

111.

r1+r2=51i»_::
'f.‘,_.f r,-r, =9-45cm
( PQ J‘\

' \/[distano between >

. | ~eny

céntre
.

(132 -5 ) = 12cm

.. Area of square =12 x 12 = 144 sq.cm

r

-

112.

Inright As OAP and OPB. ( '

AP=PB,0A=0B _ - K
op—op  « -k

=A01$1": f

" ZAOP = /PQB !TIL ZAPO

= ZOPB 4
Fro )2}
=180°-90° - 60° = 30°

.~ AAPB.= Z_AO =60°
(2n_£:30° = 300° <2

'n n
= (2n-4) x 90° =2 x 360°
=2n-4=8=2n=12

113.

=n=6

1
114. Z/PQO = EPQR =60°

From APOQ,
Z0PQ =180°-90°-60° x 30°

S R
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O
sin OPQ = %

=1+(0.08)2-2 x0.08 =-1
=(0.08)2-2-2x0.08

1

— 0Q = PQ sin 30° Clearly, z<x<y +({

L

Y - }
=6x 5 =3 1 . '
QS=2x3=6cm Q r r
115. Angle traced by hour hand in an hour = 30° P p (5’:' K. |
~ - I 7z

. 1 9
.. Angle traced in 2Z ie, hours

118. " © ‘iz’q] . r

=9 e 135 . ')
T4 T
Angle traced by minute hand in 60 minutes P \/( ~ 2% +(4-0)?
=360°
360 - Sp>
.. Angle traced in 15 minutes = 60 ° 15 =
90° R Y
135°
.. Required angle =90° - 1 a1
2‘. ,‘ 119. X +X—4 =23
-
5L .
2 2 2, -

116. The sum of any t ald-eskof a triangles is
greater than third side angl their differene is
less than thifd side.

La+4310s a>10- 4

<= ...-"" LasSe
) F
Again, a-4 <10 a<l4

“b6<a<l4
'117 % = (0.08)?,

10000
= 0. 08)2 =156.25
Z 3

(1-0.08)>-1

120. x= /6 + 6 + V6 + .....0

Onsquaring,

. .. N .
Ly B '
(@)
:E ;o
o o
| @D
Il
a
~
N

www.examrace.com



121.

=xX2=6+X
=x2-3x+2x-6=0
= x(x-3)+2(x-3)=0
= x-3)(x+2)=0
= x =3 because x £ -2
1
X+— =3
X

Onsquaring,

(3]
X

3
1
=x3+ 13 =27 - xhi},@
p ( ‘-'
1}.

X +

1
)—126
X

:)— 126 -3 =123
ectp -sec?p

c 0 (sec?g -1)

A

123.

124.

125.

=(1+tan?9) (1 +tan’p -1)

=tan?g + tan?g

A

B

BD- ]K
_ 30°

D,

0

= ABAD =30°

B =180°-2x30°=1

LOAA 1-#— 120° = 60°
Al*z DC

= /DAC = /ACD =60°
J6 %15 =x+/10

= J2x3x/3x5 = x/10
= J2x/65x3 = x/10

AD( 1

= 3410 = x4/10
=x=3

1 3-5
3+V5 T (83+4/5)(3-+/5)
_V3-45 3-5
- 9-5 4
.3_3+\/5_3—x/5
B 4 4

20°

SoLveD PAPER

oo e JEER]
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12-3-V5-3+45
- 4

6.3

4 2
126. Ifa+b+c=9
then a®+b®+ c®-3abc =0

127. Points (a,b) and [(a + 3)], (b + k) will satisfy
the equation
x=3y+7=0
Sa-3y+7=0
anda+3b+7=0 1)
=a+3-3b-3k+7=0
=a-3b+7+3-3k=0

=3-3k=0
=3k=3
3
:>k:§:1 ["‘a'3b*

128. Sum of the present ages of four'&y{
=9 x4 +20 =56 years
Sum of the present ages of five boys
=15 x5 =75 yearg A i
. Present age of nt«r @oysx
=75-56 =19 years
129. 39 + 48 + 51 63+75+*83+x+69 60 x 8
P — 428 +% . 480

= W bt [ i
( = x =480 - 498 252
130. If the weight @f a piece of diamond be 6 x
\ units, then Omiginal price a/(6x)? = 36k?
o asek=5184 ()
Again,
New price 7k (x? + 4x2 + 9x?)
= 14kx?

F

~

[Sr}

131.

13

133.

134.

14x5184 R
=55  =Rs.2016
4

.. Loss = 5184 - 2016 - (
=Rs. 3168 .

- |
--30% =Rs. 30 A) ’
. 100% = Rs. 100 \ 4 r '
~ NewSP=100-30 == ]

L
=Rs. 70 il {

—m‘\ (1.”_ r

2164

Par}-éf the tank filled by both pipes in two
hours

(575)

=2(s"6
(3+4j 7

=272 )7 12

Remaining part=1 -

7 _5
12 12
Time taken by Bin filling the remaining part

_i 6_§ 2lh
12 X 2 ) ours

ad+ b3+ c2-3abc
=(a+b+c¢)
(@®>+b%+c%-ab-bc-ac)
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1 7000x5x14
= —(a+b+0) (2a% + 2b% + 2c2 - 2ab - 2bc - T =Rs. 4900
2 100
2 Y
ac) Amount = 7000 + 4900 . s
1 Rs. 11900

= —(a+b+c)[(a-b)*+(b-c)?>+(c-a)? )

N

L
-
137. Relative profit percent \ )} '

20x25 r r
_[20+25+ OO ) - |

‘I‘

. a® +b% +c2 - 3abe
o a+b+c

=50%
1 ..ﬂ % r
5[((1 b +(b-cf +(c-a) } brlwlcost ice 1
100 100 #5006 _
- 5(9+25 +1) 150 -l
s 39. 65)175070)1154

—

135. If the number of femalses be x, then, number
of males = 15000 - x

LN

‘ww|
el

Y
100"\
- L

100

— 16300 - 15000 320

= 10x + 120000 - 8c 260
—1300x100 o A4 60 _—

R i
— 2x = 130000 - 06'0@' \ equred umber
=75070 + (65 - 60) = 75075
= 10000 * ‘ )
| ] 140. Required number
= X= 5&@()
< 136. Interest = 0 - 5000 - 50x120 =
- P 100
=Rs. 700
141.AB =tree
.. Rate = 7: 21 010 =14% BC =broken part
v X - BC=CD
Casell, AD =30 metre
Interest From AACD,
Principal x Time x Rate 3 AC
= 100 tan30° = E

~

F
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142.

143.

1
:>ACV=ADX \/g

30

=3 = 10+/3 metre

CD=ACsin30°

103 x 5, = 53 = 15./3 metre
Cos A =1-cos?A =sin? A
~.sin2A + sin*A = sin?A =cos?A =1

According to the question,

n n n
—+—+—+7 =7
2 4 b

10n+5n+4n+7

=

19n
—+7 =
= 20 =N

19n
=n="T5y =7

n
= 20
=n=20x7 14(‘

=7

144. 675 = 5><5 3x3
-!-f 3
J‘\
¥ -
.
g

20 =N

A
X

Y

1,.!\’

‘1‘.‘

146.

147.

149.

150.

=32 x 52
.. Required number
1
= 3465 - 17 = 3448 {
Required percentage increase /
}
_ 40 - 30 <100 . 100 100

30 3"

- [

_33 3 % ” vy
r

Ingome of comp(ny in 2b02
1 's! 40 khs

: dndlt e of company in
2008 = Rgk 40 lakhs

. Profit of Company in 2004

=R§ 2§'lakhs
Requited diffe

ce
20 - 1f/=Rs."10 lakhs
Avergge income of company

30 + 50 + 40 + 60 + 60
- 5

240
= — =Rs. 48 lakhs
5
The incomes of company in years 2001,
2003, and 2004 were greater than Rs. 48
lakhs.
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